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SECTION A
(5Qx4M=20Marks)
S. No. Marks CO
Q1 Explain with suitable diagram the two Kirchhoff’s Law. 4 co1
Q2 Evaluate the Laplace transform of:
@u) =1 t>0
u(t) =0 t<0 4 CO4
(b)rt) =t t>0
rt)=0 t<0
Q3 Test results for a two-port network are (a) 11 = 0.120° A, V1 = 5.2250°
V, V2 = 4.12-25° V with Port 2 open circuited (b) 12 = 0.1£0°A, V1 = 4 CO5
3.12-80° V, V2 = 4.2,60° V, with Port 1 open circuited. Find Z
parameters.
Q4 Draw the equivalent circuit at t = 0" of the elements with initial conditions
as given below:
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Q5 Explain the advantages of a three-phase system. 4 CO3
SECTION B
(4Qx10M= 40 Marks)
Q6 Find the current through the 6Q resistor using superposition theorem.
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Q7 Explain two-wattmeter method along with the phasor diagram and how 10 cO3
it can be used to measure three-phase power.
Q8 In the network of figure below, the switch is moved fromatobatt=0.
Determine i(t) and ve(t).
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Q9 In the network shown in figure below, the switch is opened at t = 0.
dv d?v n+
Solve for v, - and -z att=0".
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OR
In the network shown in Figure below, the switch is changed from the
position 1 to the position 2 at t = 0, steady condition having reached

. 2.
before switching. Find the values of i, % and % att=0"%.
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SECTION-C
(2Qx20M=40 Marks)

Derive the expression of real, reactive and apparent power along with the

the switch in the position a. At t = 0, the switch goes from a to b. Find an
expression for voltage v (t) for t > 0.

20 a b

"NMN—O )\ © o+
T
O

< =
PV ~ '::7_151 E':-lll T

=2H 9 ) v @
.

Q10
phasor diagram (lagging power factor) of a three-phase balanced star 20 COos3
connected load.
Q11 | The switch in figure below is opened at time t = 0. Determine the
voltage v(t) fort > 0.
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OR
The network shown in figure below was initially in the steady state with 20 co4






